cs115 Exercise Set 1
1. Which one of these is not an operating system?

a) Linux

b) Java

c) Windows

d) UNIX

2. Which one of these is not an application?

a) Word

b) Internet Explorer

c) Linux

d) Excel

3. How many bits are there in 3 bytes?

a) 3

b) 12

c) 24

d) 0

4. In a network, the computers providing services to the other computers are called

a) clients

b) servers

c) laptops

d) helpers

5. Which one of these is not a programming language?

a) C++

b) Java

c) Windows

d) Fortran

6. Which one of these is not an Object Oriented programming language?

a) C++

b) Java

c) Smalltalk

d) C

7. What is the fiel extension for a Java source code file?

a) .exe

b) .class

c) .java

d) .javac

8. What is the file extension of a compiled Java program?

a) .exe

b) .class

c) .java

d) .javac

9. In order to compile a program named Hello.java, what does one type at the command line?

a) java Hello

b) java Hello.java

c) javac Hello

d) javac Hello.java

10. You have successfully compiled Hello.java.  What do you type at the command line to run the application?

a) java Hello

b) java Hello.java

c) javac Hello

d) javac Hello.java

